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H.C.F. and L.C.M. of Numbers 45

81. L.C.M. of 2, 4, 6, 8, 10, 12 is 120.
So, the bells will toll together after every 120 seconds, i.e., 2 minutes.
r ‘r |
In 30 minutes, they will toll together 'i%] . IJ = 16 times. -
|
82. Interval after which the devices will beep together
= (L.C.M. of 30, 60, 90, 105) min. = 1260 min. = 21 hrs.
So, the devices will again beep together 21 hrs. after 12 noon ie., at & am.
83. L.CM. of 252, 308 and 198 = 2772,
So, A, B and C will again meet at the starting point in 2772 sec. i.e, 46 min. 12 sec.
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Decimal Fractions 47

5. Dividing a Decimal Fraction By a Decimal Fraction : Multiply both the
dividend and the divisor by a suitable power of 10 to make divisor a whole number.
Now, proceed as above.
Thus, 0.00066 _ 0.00066 x 100 _ 0066 _ 006,
0.11 0.11x100 11
V. Comparison of Fractions : Suppose some fractions are to be arranged in ascending
or descending order of magnitude. Then, convert each one of the given fractions in
the decimal form, and arrange them accordingly.

T
Suppose, we have to arrange the fractions —:—. % and 3 in descending order.

Now, = = 086, . 0.857, — = 0.777.....
Since 0.857 > 0.777 ..... > 0.6, so s > 3 > E
7 9 1

VL. Recurring Decimal : Ifin a decimal fraction, a figure or a set of figures is repeated
continuously, then such a number is called a recurring decimal.
In a recurring decimal, if a single figure is repeated, then it is expressed by putting
a dot on it. I a set of figures is repeated, it is expressed by putting a bar on the set.

Thus, = = 0.333 .. = 0.3 2—72 = 3142857142857 ... = 3.142857.

Pure Recurring Decimal : A decimal fraction in which all the figures after the
decimal point are repeated, is called a pure recurring decimal.

Converting a Pure Recurring Decimal Into Vulgar Fraction : Write the repeated
figures only once in the numerator and take as many nines in the denominator as
is the number of repeating figures.
Thus, 0.5 = —5—', 0.53 = '-GE; U.m = -§z~; ete.

9 99 999
Mixed Recurring Decimal : A decimal fraction in which some figures do not repeat
and some of them are repeated, is called a mixed recurring decimal,

eg, 017333 ... = 0173,

Converting a Mixed Recurring Decimal Into Vulgar Fraction : In the numerator,
take the difference between the number formed by all the digits after decimal point
(taking repeated digits only once) and that formed by the digits which are not repeated.
In the denominator, take the number formed by as many nines as there are repeating
digits followed by as many zeros as is the number of non-repeating digits.

16-1 _15 _1

- —  2273-22 2951
Thus, 0.16 e e 0.2273 = e
VIL. Some Basic Formulae :
1.{(a+ b)ia- b =(a2- b 2. (a + b = (a® + b2 + 2ab).
8. (a — b)? = (a® + b — 2ab). d.(a+b+cP=22+P +c®+2(ab+ be+ca).

5.(a+ B =(a+ b)(a® - ab + b2

6. (@ - b%) = (a— b) (a® + ab + b).

T.(a®+ B+ —3abc)=(a + b+ ) (a®+ b+ & — ab— be - ac).
8. When a+ b+ c=0, then 2 + 58 + & = 3abe
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Quantitative Aptitude

SOLVED EXAMPLES

Ex. 1. Convert the following into vulgar fractions :

(i) 0.75 (ii) 3.004 (iif) .0056.
5 75 b .. 3004 751 56 7
: E (L. N 004 = — = —. 0056 = —— = ——.
Sol. (i) 0.75 00+ .3 (i) 3 1000 250 (i1} 10000 1250
& 117118 =16

Ex. 2. Arrange the fractions 3 12° 16" 29
Sol.

and —g in ascending order of magnitude.

Converting each of the given fractions into decimal form, we gel :

3 2
E = 0.625, i = 0.5833, E = 0.8125, & - 05517 and — = .75,
8 12 16 4
Now, 0.5517 < 0.5833 < 0.625 < 0.75 < (0.8125.
16 7 5 3 13
-_—— L — L — £,
29 12 8 + 16
2 3 4 8 Pl . 3
Ex. 3. Arrange the fractions 709 and T in their descending order.
(R.B.I. 2003)
Sol. Clearly, 3 = 06, & = 0571, 2 = 088, 2 - os18.
5 7 9 11
Now, 0.88 > 0.818 > 0.6 > 0.571.
8 9 = B |
3 —>—=>—=> =,
g 11 51
Ex. 4. Evaluate : (i) 6202.5 + 620.25 + 62.025 + 6.2025 + 0.62025 (L.L.C. 2003)
(i) 5.064 + 3.98 + .7036 + 7.6+ .3+ 2
Sol. (1) 6202.5 (i1) 5.064
620.25 3.98
62.025 (0.7036
6.2025 7.6
- 0.62025 0.3
688901.59775 + 2.0
19.6476
Ex. 5. Evaluate : (i) 31.004 - 17.2386 (i) 13 — 5.1967
Sol. (i) 31.0040 (i) 13.0000
- 17.2388 = 51967
13.7654 7.8033

Ex. 6. What value will replace the question mark in the following equations ?
(i) 5172.49 + 378.852 + ? = 9318.678 (B.S.R.B. 1998)
(if) ? — 7328.96 = 5169.38 (B.S.R.B. 2003)
(i) Let 517249 + 378.352 + x = 9318.676.
Then, x = 9318678 — (5172.49 + 378.352) = 931 8.678 - 5550.842 = 3767.836.

(if) Let x — 7328.96 = 5169.38. Then, x = 5169.38 + T328.96 = 124898.34.
Ex. 7. Find the products : (i) 6.3204 x 100 (if) .069 x 10000
Sol. (i) 6.3204 x 100 = 632.04, (i) 069 x 10000 = .0680 x 10000 = 690.

Sol.
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Ex. 8. Find the products :

(i) 2.61 x 1.3 (ii) 2.1693 % 1.4 (iii) .4 x .04 x .004 x 40.
Sol. (i) 261 x 13 = 3393. Sum of decimal places of given numbers = (2 + 1) = 3.
261 x 1.3 = 3.393.

(11} 21693 x 14 = 303702. Sum of decimal places = (4 + 1) = 5.
2.1693 x 1.4 = 3.03702.

(iii) 4 % 4 x 4 x 40 = 2560. Sum of decimal places = (1 + 2 + 3) = 6,
A 4 x 04 x 004 x 40 = .002560.
Ex. 9. Given that 268 x 74 = 19832, find the value of 2.68 x .74.
Sol. Sum of decimal places = (2 + 2) = 4.

2.68 x .74 = 1.9832.
Ex. 10. Find the quotient :

(i) 0.63+ 9 (ii) 0.0204 + 17 (iii) 3.1603 + 13.
Sel. (i) 63 + 9 = 7. Dividend contains 2 places of decimal.
! 0.63 = 9 = .07,

(ii) 204 = 17 = 12, Dividend contains 4 places of decimal,
0.0204 + 17 = .0012. !
(iii) 31603 + 13 = 2431. Dividend contains 4 places of decimal.
; 3.1603 + 13 = .2431.
Ex. 11. Evaluate ;

(i) 85 + .07 (i) 2.5 + 0.0005 (M.B.A. 1998)
(iif) 136.09 + 43.9 (Hotel Management, 2000)
Sol. (0 .‘Eﬂ = M = 3_5.3 = 500.
07 07 %100 7
%9  2.5x10000 _ 25000

L) = 5000.

00005  0.0005x 16000 5

136.09 _ 136.09 x 10 1360.9
439  439x10 439

Ex. 12. What value will come in place of question mark in the following equations?

(1id) 3L

(i) 0.006+ 7 = 0.6 (i) ? + .025 = 80
Sol. (D Let 9.006 = 06. Then, x = 0.006. .- 9006 %10 805 = 0.01.
x 06 0.6x10 G

(i) Let ~(;—g = 80. Then, x = 80x 025 = 2

2 1
- 13, If ——-— = .2689, d t "
ol 3.718 > then find the value of T
1 10000 1 )
= = | 10000 = 100 - :
0003718 3718 | *3718 J 00 x 2689 = 2689
Ex. 14. Express as vulgar fractions : (i) 0.37 (ii) 0.053 (iii) 3.142857.

— a7 . —_— 53
. ) 0.37 = —. 053 = —.
Sol (i) 99 (i) 0 =

142857 . 142857

999999 " 999999

Ex. 15. Express as vulgar fractions : (i) 0.17 (i) 0.1254  (iii) 2.536

17-1 18 '8 _ —  1254-12 1242 69

—_— e = 012 s —  —— ———,
90 90 45 Ll e 9800 9900 550

(ri1) 3.142857 = 3+ 0.142857 = 3+

Sol. (i 017 =
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(iil) 2595 = 240595 =2+ 59603 _ 5 483 _ , Ablp 160

200 900 300 300

0.05 =< 0.05 % 0.05 + 0.04 x 0.04 x 0.04
Ex. 16. Simplify: — . GNOU, 2003
x Py 05 % 0.05 - 0.05  0.04 + 0.04 x 0.04 d w203
a’ 4+ b? W
Sol. Given expression = , where ¢ = 005, b = 0.04

a® — ab ng
= +b) = (0.05+0.04; = 0.08.

— — — — — — —— — — — — — — — ——— | — — — — — — — — —— —

EXERCISE 3

(OBJECTIVE TYPE QUESTICNS)

Directions : Mark (v) against the correct answer :
1. The fraction 101 ——n
100000
(a) .01027 (b) .10127 (¢) 101.00027 (d) 101.000027
2. When .36 is written in simplest fractional form, the sum of the numerator and the
denominator is :

in decimal form is: .

(a) 15 (b) 45 (c) 114 (d) 135
3. What decimal of an hour is a second 7
(a) .0025 (b) .0256 () 00027 {d) .000126

4. 1f 47.2506 = 4A+%+2C+%+ 6E, then the value of 5A + 3B + 6C + D + 3E is :

(8.S.C. 2003)
{a) 53.6003 (b) 53.603 {¢) 153.6003 (d} 213.0003
5. Which of the following has fractions in ascending order ? (Bank PO. 2003)
[ﬂj lp ép'iv él 519‘ (b] l‘ 'Z's:juin i,E
385 7T 56 T 35 8 7T 6 7
pEegageinYeg &g P B (L Sl T
(e} 3|5r'5|él E!? (d) g- E‘E’ ?1 E’?
6. Which of the following has fractions in ascending order ? (NABARD, 2002)
2 37 9 8 g2 B 78 3 27 9 8
MR T Gl T © 5 39119
2
2 5 3 28 TER N
911 9 83 6 9 11 9 5 3
7. Which of the following are in descending order of their value ? (R.R.B. 2002)
518 1 B, Bodd: ?
@3B AT AT
u 785 758
© 7o () o TG s
8. What is the difference between the biggest and the smallest {raction among %' %
4 5
— and = ? C.B.I. 1998
s an 5 ( )

1 i 1 s
(a) 8 (b) 12 (e 20 d z5
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9. Which part contains the fractions in ascending order ?
11 16 19 16 11 19 i 16 19 11 19 11 16
@ 14 19" 21 ® 15" 18’ 21 © 19" 21' 14 @ 51" 12" 19
10. Which of the following fractions is the smallest ? (S.5.C. 2002)
13 15 17 7
(a). T (b 19 (0 31 (@) 3
11. Which of the following fractions is greater than % and less than % ?
(S.5.C. 1999)
1 2 4 9
(a) 2 (b) 3 (e 5 (d) 10
12. Which of the following fractions is less than % and greater than % ?
1 23 11 17
(a) % (b) EYY (0 2 {d) 24
13. Which of the following numbers does not lie between % and % 7
1 2 3 5
(a) 3 (b) 3 (c) 3 (d) 7
; ~T § & : .
14. The arrangement of rational numbers 0 "8 -3 in ascending order is :
2 5 =1 5 -7 2 - 2 -7 2 5
& B B T ) SRR i S T e
15. 337.62 + 8.591 + 34.4 =7 (5.5.C. 1998) |
{a) 370.611 (b) 380.511 (c) 380.611 {d) 4286.97
16. The value of {1 = .1 + .01 + .001) is :
{a) 1.001 (b) 1.011 - (e) 1.003 (d) 1.111
17. 3495 + 240.016 + 2398 = ? {(Bank P.O. 2002)
(a) 298.0946 (b) 298.111 (c) 298.946 (d) 299.09
18, 617 + 6.017 + 0.617 + 6.0017 = 7 (M.B.A. 1998)
(a) 6.2963 (b) 82.965 (¢) 6296357 {d) None of these
19, 4895 - 32.006 = ? (I.B.PS. 2002)
(a) 16.089 (b) 16.35 (c) 16.89 (d) 16.944
20. 792.02 + 101.32 ~ 306.76 = 7 (NABARD, 2002)
(a) 586.58 (b) 893.34 (c) 997.11 (d) 1200,10
21. 12.1212 + 17.0005 — 9.1102 = ? (B.S.R.B. 2003)
(a) 20.0015 (b) 20.0105 {c) 20.0115 (d) 20.1015
22. 8§92.7 - 573.07 — 95.007 = ?
(a) 224.623 (b) 224.777 (c) 233.523 (d) 414.637
23. 3889 + 12.952 — 7 = 3854.002 (Bank P.O. 2002)
(a) 47.095 {b) 47.752 (c) 47,932 (d) 47.95
24. 138.009 + 341.981 — 146.305 = 1236 + ? (Bank P.O. 1999)
(a) 120.085 (b) 120.85 (c) 220.085 {(d) None of these

25. 83258 — 24231 = 779.84 - ?
(a) 179.57 (b) 199.57 {¢) 295.06

(B.S.R.B. 1998)
(d) None of these



37.

38.

39.

41.

42
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What will come in place of question mark in the following equation ?

54, (?) 3 + 543 + 543 = 603.26

. 0.04 x 0.0162 is equal to :

(a) 6.48 x 10~ 3 (b) 6.48 x 10~ *
2 % 0.3 % 0.03 %0003 x30="7
{a) 0.0000243 (b) 0.000243

(Hotel Management, 2001)

(a) 6 (b} 6 () 8 (d) None of these
Which of the following is equal to 3.14 x 10° ? (Hotel Management, 2003)
(a) 314 (b) 3140 (¢) 3140000 {d) None of these
The number 518,000,000 when expressed in scientific notation, equals :
(a) 51.8 x 108 (b) 51.8 x 107 (¢) 5.18 x 10% (d) 5.18 x 109
0.000006723 when expressed in scientific notation, is :
(a) 6723 x 103 (b) 67.23 x 107 (c) 6,723 x 10-6 (d)} None of these
If 1.125 x 10% = 0.001125, then the value of k is :
(a) - 4 by -3 {¢) - 2 (d) -1

. 0.002x05=7 (Bank P.O. 2003)
(a) 0.0001 {b) 0.001 (c) 0.01 (d) 0.1

. 16,02 x 0.001 = ? (Bank P.O. 2002)
{a) 0.001602 (k) 0.01602 {¢) 0.1602 (d) 1.6021
0.014 x 0.014 = ? (Hotel Management, 2001)
{a) 0.000196 (b) 0.00196 (¢) 19.6 (d) 196
4083 x 102 x12="7 (S.B.1.PO. 2003)
(a) 41.64660 (b) 42,479532 {c) 49.97592 (d) 58.7952

(M.B.A. 1998)
(¢) 6.48 x 10~ % (d) 6.48 x 10~ ¢
(Hotel Management, 2002)

{e) 0.00243 (d) 0.0243

How many digits will be there to the right of the decimal point in the product of 95.75

and .02554 ? (LA.M. 2002)
(a) 6 (b) & (o) 7 {d) None of these
(.00325 of %). when expressed as a vulgar fraction, equals :
= 23 23 E
(a) 80 (b} 800 . (@ Fo00 id) 23
Which is the closest approximation to the produet 0.3333 x 0.25 x 0.499 % 0,125 x 24 7
1 b 2 {c 2 d) -2"
(a) 3 b 7 93 (d 3
Consider the following quotients :

1. 368.39 divided by 17

(a) 1,3, 2 (by 2,1, 3
0.213 + 0.00213 = 7
(a) 1 (b) 10
4.036 divided by 0.04 gives :
(a) 1.009 (b) 10.09
--1— 18 equal to :
0.04

1 2
(a) 20 (b 5

2. 170.50 divided by 62
Their correct sequence in decreasing order is :

3. 875.65 divided by 83

(C.D.S. 2003)
()2, 8,1 (d) 3,1, 2
(¢) 100 (d) None of these

(Hotel Management, 2003)

() 100.9 (d) Nome of these
(S.S.C. 2000)
(e) 25 (d) 25
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3
44, [%+%) i
025 005
(a) 139.4 (b) 140 (¢) 140.6 (d) 143.9
45. The value of 0.0396 + 2.51 correct to 2 significant figures is :
(a) 0.015 {b) 0.0157 () 0.016 (d) 0.017
468. .04 x ? = .000016.
(a) 0.0004 (b) 0.04 (c) 4 (d) Noneofﬂ'{ese
a. 2o (M.B.A. 1998)
(a) .0009 (b) .09 (&) .9 (d) 9
b Wkl I e N Bie ok 5 1 (C.B.L 2003)
0.144 x
(a) 0.0144 (b) 1.44 (c) 14.4 (d) 144
49. A tailor has 37.5 metres of cloth and he has to make 8 pieces out of a metre of cloth.

How many pieces can he make out of this cloth ? (N.LET. 2000)
(a) 320 (b) 360 (c) 400 (d) None of these
The price of commodity X increases by 40 paise every year, while the price of commodity
Y increases by 15 paise every year. If in 2001, the price of commodity X was Rs. 4.20
and that of ¥ was Rs. 6.30, in which vear commodity X will cost 40 paise more than

50.

the commodity Y 7

(Bank P.O. 2002)

(a) 2010 (b) 2011 (c) 2012 (d) 2013
51. When 0.232323 ... is converted into a fraction, then the result is : (C.B.I. 1998)
1 2 23 23
(a) b 3 (c) 9 (d) 100
52. The rational number for the recurring decimal 0.125125 ..., is : (M.B.A. 2002)
63 119 125
(a) 287 (b) 293 (¢) 999 (d) None of these
53. When 0.47 is converted into a fraction, the result is :  (Section dm“rs’, 2003)
46 46 47 47
Aa) 90 (b % © 59 ) 3o
54. 0.36 expressed in the form of g equals :
4 4 36 ;. ab
(a) 77 b T3 @ 5o (d) 99
56. The least among the following is : (8.8.C. 2002)
(a) 0.2 (b) 1+ 0.2 (@ 02 (d) (0.2
56. The correct expression of 6.46 in the fractional form is : (C.B.1. 1997)
646 64640 640 640
(a) 59 (b Too0 () 100 (d) 9
67. The value of 057 is:
57 57 26 H2
(a) T (b) % (c) pTy (d) Y
58. Let F = 0.84181. When F is written as a fraction in lowest terms, the denominator

exceeds the numerator by :

(a) 13 (b) 14 (c) 29 (d) 87
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59. The value of 4.12 is :
11 11 371
Lt == il ] fthe:
(a) 490 (h) — (e o (d) None of these
60. The value of 2.136 is : (L.I.C.A.A.O. 2003)
AT 68 3 ‘
(a) 220 (b) 195 (cl 25 {d) None of these
61. The value of (0.2 + 0.3 +0.4+0.9 +0,39) is : (C.B.L 1997)
T 20 1 - 13
i - 2—
(a)_O.ﬁ? (b) 133 (¢ 23 (d) a3
62, 387-258=7 (A.A.0. Exam, 2003)
{a) 1.20 (b) 12 (¢} 127 (d) 1.28
63. The simplification of 3.36 - 2.05+ 1.33 equals : (8.8.C. 2003)
(a) 2.60 (b) 2.64 (¢ 261 (d) 2.64
64. (0.09x7.3) is equal to : (S.8.C. 2003)
(a) 6 (b) .657 (¢} .67 (d) 657
85. (0.3467 + 0.1333) is equal to (Hotel Management, 2002)
(a) 0.48 (b) 0.48 (0 0.4801 (d) 0.48
66. (8.31+0.6+0.002) is equal to: (8.8.C. 2002)
(a) 8912 (b) 8.912 (c) 8.979 (d) 8979
67. The sum of 2.75 and 3.78 is : (Section Officers’, 2001)
(a) 1.03 (b) 153 (¢ 453 (d) 553
547.527 547527 .
68. 00032 = x, then the value of 22 18 (Hotel Management, 1999)
(a) '1% (b) 10x (¢) 100x (d)} None of these
69. If 2994 + 145 = 172, then 2994 + 145 = ? (L.I.C. 2003)
(a) 0.172 (h) 1.72 () 17.2 (d) 172
70. If 213 x 16 = 3408, then 1.6 x 21.3 is equal to : (Assistant Grade, 1998)
(a) 0.3408 (b) 3.408 (¢} 34.08 (d) 340.8
1 1 »
. If —— = 0.16134, then th f ——— is
71 5.198 en the value o 50006198 is (8.8.C. 1997)
(a) 0.016134 (b) 0.16134 (c) 1613.4 (d) 16134
72. When 52416 is divided by 312, the quotient iz 168. What will be the quotient when
52.416 is divided by 0.0168 ? (Hotel Management, 1998)
(a) 3.12 (b) 3&? (¢) 3120 {d) None of these
73. Given 168 x 32 = 5376, then 5.376 + 16.8 is equal to :
(a) 0.032 (b) 0.32 (c) 3.2 (d) 32
T4, 54327 x 357.2 % 0.0057 is the same as : (Hotel Management, 1997)
(a) 5.4327 = 8.572 = 5.7 (b} 5.4327 x 3.572 x 0.57
(c) 54327 x 3572 = 0.0000057 (d) None of these
75. EM iz the same as :
3.489 x 5.42
53472 x 3.2423 53472 x 32423 534.72 x 324.23 D3472x 32423

(c)

3.489 x 54.2 (b) 3489 x 542 34 89 % 5.42 (d) 3489 x H42
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96.54 —89.63 9654 - 8963

76 965478963 * 965478963
(a) 10— 2 (b) 10-1 (c) 10 (d) None of these
T7. If 13 + 2% + ... + 9% = 2025, then the value of (0.11)% + (0.22)3 + ..... + (0.99)3 is close
to : (S.8.C. 2003)
_(a) 0.2695 (b) 0.3695 (e) 2.695 (d) 3.695
78. 8.7-[7.6~(6.5- (5.4 - 43— 2)}] is simplified to : (S.8.C. 2004)
(a) 2.5 (b) 35 (c) 4.5 (d) 5.5
79. The value of E) +L+ =T correct to 4 decimal places is :
4 4xb5 4x5x86
(a) 0.3075 (b) 0.3082 (c) 0.3083 (d) 0.3085
80. Find the value of the following expression upto four places of decimals.
1 1 1 1
bt 1x2 * 1x2x4 . 1x2x4x8 % 1x2><4><8><16] (ol Manniesiohat, 200%)
(a) 1.6414 (b) 1.6415 (c) 1.6416 (d) 1.6428
81. The sum of the first 20 terms of the series + 1 - z ¥ 5o is :
5x6 6x7 Tx8
(a) 0.16 (b) 1.6 (e) 16 (d) None of these

(Hotel Management, 1998)

82. If 1.5x = 0.04y, then the value of [y - x] is :

Y+
730 73 T3
(a) 7 (b) 77 (e) 77 (d) None of these
84 =3 Dt
83. The value of [35.7-|°* T || ** 1|]is:
3+ = 2+ =
3 2)
(a) 30 (b) 34.8 (¢) 36.6 (d) 41.4
(0.1667) (0.8333) (0.3333) is approximately equal to : (M.B.A. 1998)

(0.2222) (0.6667) (0.1250)
(a) 2 (b) 2.40 (c) 2.43 (d) 2.50
3.6x048x250 .

85 e value of 015 6000 is (S.8.C. 1998)
(a) 80 (b} 800 , (e) 8000 (d) 80000
00203x292
8. S00T3x145x07 thIEh. 1a08)
(a) 0.8 (b) 145 (c) 2.40 (d) 3.25
3.157 x 4126 x 3.198
s f i . .B.1.
87. The value o PR is closest to (C.B.I. 2003)
(a) 0.002 (b) 0.02 (e) 0.2 (d) 2
88. The value of 4801375 %,0.0463 x 1.956 is closest to : (C.B.1. 1997)
0.0873 x 92.581 x 99.749
(a) 0.006 (b) 0.06 (c) 0.6 (d) 6
89. The value of 241 9x04b]4 6843 is close to :
0.4618 x 38.25 x 73.65

(a) 0.2 (b) 0.4 (c) 0.6 (d 1
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(0.2 x 0.2 + 0.01) (0.1 x 0.1 + 0.02) ! is equal to :

Quantitative Aptitude

(Seetion Officers’, 2003)

5 9 41 41
(a) 3 (b) 5 (o) o (d) 12
5”“1‘%“ =7 (Bank PO. 2003)
(a) 0.4 (b) 1.2 (c) 1.4 (d) 4
The value of (4.7 % 13.26 + 4.7 x 9.43 + 4.7 x 77.31) is : (IGNOU, 2003)
(a) 0.47 (b) 47 (¢) 470 (d) 4700
. . 02x02+02x0.02
Simplify : ; 8.8.C. 1999
implify 0,044 ( )]
(a) 0.004 (b) 0.4 (a) 1 (d) 2
86x53+86x4.7] .
The value of (4.3 07— 48 8.7] is
(a) 3.3 (b) 6.847 (c} 13.9 (d) 20
896 x 763 + 896 x 237 .
The vatue of (S99 27882 296~ 27 ) e
(a) .976 (b) 9.76 (¢) 1.28 (d) 12.8
The value of (68.237)% — (31.763)% is :
(a) 3.6474 (b) 36.474 (¢ 364.74 (d) 3647.4
(2.39)° - (1.61)°
Evaluate : ——M——— R.R.B. 2003
valuate : 39 - 161 6 )
(a) 2 (b) 4 (c) 6 (d) 8
3 - o
On simplification of %ﬂ we get : (S.8.C. 1999)
(a) 1 (b) 4 (¢) 5 (d) 6
2 -
(36.54) 2 (346) il
(a) 3.308 (b) 4 (e) 33.08 (d) 330.8
- (67.542)° - (32.458)° .
The value of 75458 = 40374 is (Hotel Management, 1997)
(a) 1 {b) 10 {c) 100 (d) None of these
(1.49 %149 - 0.51 x5.1
Af 8- 0. - : S.C. 2004
t TR is equal to (S.S.C. 2004)
(a) 0.20 {h) 2.00 (e) 20 (d) 22
42x42-19x19 ~9 (R.R.B. 1998)
23x61
(a) 0.5 (b) 1 (c) 1.9 (d) 4.2
532x56+532x 44
Simplify : - :
i (7.66)° — (2.34)%
(a) 7.2 (b) 85 {¢) 10 (d) 12
0.6) - (0.5)* .
— is equal to :
(0.6 + (0.5)
(a) 0.1 (b) 0.11 {c 1.1 {d) 11
(7.5 x 7.5 + 37.5 + 2.5 x 2.5) is equal to : (8.8.C. 2000)
(a) 30 (b) 60 {c) 80 (d) 100
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Decimal Fractions

1086.

107.

108.

109.

110.

111

112.

113.

114.

115.

116.

117,

118.

0.2%0.2+0.02x0.02-0.4x0.02

The simplificati f
e simplification o 036

gives :

(a) 0.009 (b) 0.09 (¢) 0.9 d 9
The expression (11.98 x 11.98 + 11.98 x x + (.02 x 0.02) will be a perfect square for
X equal to :
{(a) 0.02 (b) 0.2 (c) 0.04 (d) 0.4
= iz
The value of \2:697 —0498)" +(2.697 + 0.498) .
2,697 x 2.697 + 0.498 x 0.498
{a) 0.5 (b) 2 (c) 2.199 (d) 3.195
The value of (0137 +0.0987 - (0.137- 0.098 .
0.137 x 0.098
(a) 0.039 (b) 0.235 (¢) 0.25 (d) 4
0.051 x 0.051 x 0.051 + 0.041 x 0,041 x 0.041 .
The Hlug of (0_051 % 0051 - 0.051 % 0.041 + 0.041 x 0_041) g (BB 008)
{a) 0.00092 (b) 0.0092 (e) 0.092 (d) 0.82

The value of (353 x 953 - 953 x 047 + 047 x .047] "

953 x 953 x 953 + 047 x 047 x 047

{a) .32 (b) .886 (c) 1.1286
- \
The value of ____(_)il__%u._:l'__ﬂ_.p 27 is :
0.5x05+009-015
(a) 0.08 (b) 0.2 (e) 0.8
10.3%10.3x103+1] .
is equal to :
103%x103-103+1
{a) 8.3 {by 10.3 (e) 113
83.55° 1],
———— | iz equal to :
(7.5 -6.5
.9
(al (b) 2.75 (c) 4.75

5

The value of

0.1x0.1x0.1+0.02x%x0.02x0.02
02x02x0.2+0.04 x 0.04 x 0.04
(b) 0.125 () 0.25

(8.94 x 894 x 8.94 - 3.56 x 3.56 x 3_.56] »

(a) 0.0125

The value of | Sor X 204X 5.9 :
¢ VAE 01 | 8.94 x 894 + 8.94 x 356 - 3.56 x 356

(a) 0.538 (b) 5.38 (¢) 0.0538
: 5 = S5
The value of “;96)‘ L2, = 4
(0.96)° + 0.096 + (0.1)
(a) 0.86 (b) 0.96 (¢) 0.97
a_
The value of M
(2.3)° + .69 + 09
{a) 0 (b) 1.6 (c) 2
2 2 T
The value of (0.06)2 +(0.4r)2+(0.0r9) s
(0.008)° + (0,047 + (0.0079)
(a) 0.1 (b) 10 () 100

(d} None of these
(8.8.C. 2002)
(d) 1
(S.8.C. 2004)

(d} 12.3

(5.5.C. 2003)

(dy 8.5

] is : (Hotel Management, 2003)

(d} 0.5

(d) 53.8
(S.8.C. 2004)
(d} 1.06

(8.8.C. 1997)

(d} 3.4

(d) 1000

— — — — — — — — — — — — — — — — — — — — — — — — — — — —— —
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58 Quantitative Aptitude
ANSWERS

1 (¢ 2.(a) 3. (o 4. (o) 5. (a) 8. (e 7.(d 8.(a) 9. (a)
10. (b) 11. {0 12. (d 13.(a) 14.(d 15 (& 18, (d 17.(c) 18. (o
19. (d) 20.(a) 21.(c) 22 (a) 23.(d 24. {(d) 25. (d 26. (¢ 27 (o
28. () 29.(ch 30.(h) 381. (b 32 (b) 33 (a) 34. (c) 35.(b) 36. (¢
37. (b) 38.(b) 39.(a) 40.(a) 41. (00 42 (0 43.(d 44. (¢) 45. (¢
46. (a) 47.(c) 48.(a) 49.(d) B0.(b) 51 (& 52 (¢} 53. (d B4 (a)
56. (d). B56. (d) B7.(c) 68.(d) 59.(a) 860.(d) 6L (d 62 (&) 83 (d
64. (a) 65.(c) 66.(d) 67.(c0 68.(a) 69.(c) 70.(¢0 7L (&) T2 (o)
73. (b) 74.(a) T6.(d) 76.(a) T7.{c) 78. (¢} 79 {(c) 80.(c 81 (a)
82. (b) 83. (a) 84.(d) 85.(bh) 86.{a) 87. (¢0 88.(b) 89.(b) 90.(a)
91. (d) 92 (c) 93.(c0 94.(d 95 (¢ 96.(d 97 (b) 8B.(c) 99 (¢
100. (¢ 101. (b) 102. (b) 103. (¢) 104. (b) 105. (d) 1086. (b) 107. (¢) 108. (b)

108. (@ 110. (0) 11 (d) 112. (& 113. (¢ 114. (d) 115. (b) 116. (b} 117. (a)
118. (¢ 119. (2

—----_._'——-—.———l-u-—--.—_—._——_——_—-_...___w—w_—_———.—-

SOLUTIONS
1 101—27_ _ 101+ = 101 + 00027 = 10100027
> 100000 100000 3 ) .
2. 036 = ﬁ = i Sum of Numerator and Denominator = 9 + 25 - 34,
100 25
3. Required decimal = —— = 1 _ 00027,
6060 3600

4 4A+ 21120+ 20 6R = 472508
B D

B
= 4A+%+ ZC+%+6E = 40+ 7 + 0.2 + 0.05 + 0.0006
Comparing the terms on both sides, we get -

0.05, 6E = 0.0006

I

7 5
4A = 40, — = 7,2C = 0.2, >
B D

or A=10,B=1,C=0.1,D =100, E = 0.0001,
5A +3B+6C+D+3E = (5x10) + (3x 1) + (6 x 0.1) + 100 + (3 x 0.0001)
=50+ 3+ 0.6+100 + 00003 = 153.6003.
5. Converting each of the given fractions into decimal form, we get :

=033, 2-04,2 - 057,206 5-082 8- 0gm,

3 ] 7 5 6 7

Clearly, 033 < 04 < 0.57 = 0.6 < 0.82 < 0.857. So, -;: < 2 < —< g < g < 2
o (0 7

6. Converting each of the given fractions into decimal form, we get :

g=0.EBE5,E=().6,-Z;{}.?‘?,izt},{-ll,é=|’1.El<?..
3 2 ) 11 9
~ . R 9 8
Clearly, 0.6 < 0.68 < (.77 Bl <088 So, —< =< —<— <~
rly, < < 7 <0.81 < 0.8 n5<3<9<11{9



Generated by Foxit PDF Creator © Foxit Software
http://www.foxitsoftware.com For evaluation only.

Decimal Fractions 5¢
7. Converting each of the given fractions into decimal form, we get :
é = .55, -I- = 0.63, — = 0.533, -]—1 = 0.647.
9 11 15 17

Clearly, 0.647 > 0.83 > 0.55 > 0.533. 80, -11 > l > ?- > -!}—
17 11 9 1b

8. Converting each of the given fractions into decimal form, we get :

2 = 0.66, 3 = (.75, é = (.5, s 0.833.
3 4 5 6

o

Since 0.833 > 0.8 > 0.756 > 0.66, so%>%>—>

-9
wtw

Required difference = (E : E) = l.
g -3 6

11 16 19
9, Clearly, — = 0.785, — = 0.842, — = 0.904.
Clearly, 14 19 1 U0
Now, 0780 < (.842 < 0.904. SO, 'Lﬁ- 19
]4 19 21
]. 17 7
10. We have : 36 = 0.8125, ]_q = 0.7894, — = 0.8095 and 3 = (0.875.

Since 0.7894 is the smallest, so -}z— is the smallest.

2 0.75, 2 . 0.833, L 0.5, 2 s 0.66,
4 6 2 3

Clearly, 0.8 lies between 0.75 and 0.833.

2 s betwosn = wnd .
5 1 %%

11

o

= 0.8, Bl 09,
10

11 17

12. -'087..1,— = 0333, — =025 =2 = 0958, — = 0916, — = 0.708.
3 2 12 24

2
8
Clearly, 0.708 lies between 0.333 and 0.875.

it lies between L and z
24 3 B
4 7 1 2 3 5
. — =08 — =053 = = 05 = =066, — =075 - = 0714
13 5 08,13 33,2 3 2 0.7 7
Clearly. 0.5 does not lie between 0.53 and 0.8.
L= does not lie between -4- and %
=1 =-07, L T - 0.625, 2 _.2

4. ;
. 10 -8 8 -3

-7
i -0.7 0.66 < - 0.625, s0 — = 3
Since < < S0 T 3 < &

15. 337.62 16. 10 17. 3495 18. 617.00
8.591 0.1 240.016 6.017

+ 344 0.01 + 23.98 0.617
380.611 - 0.001 298.046 + 6.0017
’ T 629.6357
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30.

3L

32

33,

34.

36.

36.

37.

38.

39.
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Quantitative Aptitude

48.950 20. 792.02 893.34
— 32.006 + 101.32 - 306.76
16.944 893.34 586.58
Given expression = (12.1212+ 17.0005) - 9.1102 = (29,1217 - 9.1102} = 20.0115.

Given expression = 8927 - (573.07 + 95.007) = 8927 - 668.077 = 224,623,

Let 3889 + 12952 - x = 3854.002.

Then, x = (3889 + 12952) - 3854002 = 3001952 - 3854.002 = 47.95.

Let 138.009 + 341.981 — 146.205 = 1236 + x.

Then, x = (138009 + 341.981) - (146.305 + 123.6) = 179.99 - 268.905 = 210.085,

. Let 832.58 — 24231 = 77984 - x

Then, x = (779.84 + 242.31) - 832.58 = 1022.15 - 832.58 = 189.57.
Let x+ 543 + 5.43 = 603.26. Then, x— 603.26 — (543 + 5.43) = 603.26 — 548.43 = 54.83.
Missing digit = 8.

. 314 x 10% = 8.140000 x 1000000 = 3140000,

518,000,000 = 5.18 x 100000000 = 5.18 x 108,
0.000006723x10°  6.723

0.0000068723 = . = o= = 6723x10° 8,
10 10
x 0001126 1125 1125x10° 1 -
10% = = = L
1125 1125 1125x10°  10°
k=-3
2 % 5 = 10. Sum of decimal places = 4.

0.002 x 0.5 = 0,0010 = 0.001.
1602 x 1 = 1602. Sum of decimal places = §.
oo 16.02 x 0.001 = 0.01602.
14 x 14 = 196. Sum of decimal places = 6.
0.014 % 0.014 = 0.000196,
4083 x 102 x 12 = 4997592, Sum of decimal places = 5.
S 4083 x 1,02 x 1.2 = 49.97592.
4 x 162 = 6848. Sum of decimal places = 6,
0.04 x 0.0162 = 0.000648 = 648 = 10~ %
3x3x3x3x30=2430. Sum of decimal places = 6.
3 x 0.3 x 0.03 x 0.003 x 30 = 0.002430 = 0.00243.
Sum of decimal places = 7.
Since the last digit to the extreme right will be zero [0 5 x 4 = 20), so there will be
6 significant digits to the right of the decimal point.

K. % i %
00625 of ?EJ -[_625 ,23)_ 23

5/ 1100000 5, 800
Given product = 0.3x 025 <05%x 0,125 =24

1
10700 “70 “1000 “**) " 80 T 5 AP
1. 36839 = 17 = 2167. Dividend contains 2 places of decimal.
368.39 + 17 = 21.67.
2. 17050 = 62 = 275. Dividend contains 2 places of decimal.
o 17050 + 62 = 2.75.

=[3 25 5 125}(24 g
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Decimal Fractions

41,

47.

48,

49,

5l

52.

53.

55.

56.

57.

58.

3. 87565 + 83 = 1055. Dividend contains 2 places of decimal.
s 875.65 = 83 = 10.55.
Since 21.687 > 10.55 > 2.75, the desired order is 1, 3, 2.
0213 0213100000 213 =100

- - = 100.
000213 000213 = 100000 213
4036 4036
2207 - 227 - 1009,
0.04 4
gz 108 o
0.04 4
y3 Vo orog
[005 0"‘5) - [i+§ - [l+5' = [‘!—"] = (52° = 140,608,
025 005 2 b5) B it b
f
00396 _ 396 _ 3% | _ 1577 _ 401577 = 0016
251 251 | 251x100 100
Let 04 x x = 000016. Then, x = lﬂ{—}%g-]—% = P-llﬁ = .0004.
Let 222 < 01 Then, x = T2 = 2 < o,
01 1
144 _ 144 144 x 1000 _ 144 _ 144
R = =5 i) i o 3= 1000 0.0144.
Length of each piece = (%] m = 0,125 m.
\ 37
s Required number of pieces = [Udei; [%J = 300.
Suppose commodity X will cost 40 paise more than Y after z years, Then,

(4.20 + 0.40z) - (6.20 + 0.152) = 0.40

<= 026z-040+210 & z= E—gﬂ—@— 10,
0.25 25
X will cost 40 paise more than Y 10 years after 2001 ie, in 2011.
- 93
0.232323 ..... =0.23 = —.
99
0.125125..... = 0.125 = 222
— 47
0.47 = —.
a9
= 36 4
0.36 = — = —.
a9 11
1:02= -2 =10 _ 5 03 - 0292 . 02° - 004,
02 2

0.04 < 0.2 <0.22 ... < b.
Since L0415 the least, so (0.2)2 is the least.
—_ S 46 594 + 46 640
6.46 = 6+0.46 = 6""9_43:'_—99 =5
057 - 218 32 2
a0 90 45
84181 - 841 83340 _ 463
99000 99000 550
Required difference = (550 — 463) = 87,

084181 =
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Quantitative Aptitude

— - 12-1 11
59. 412 =44+012 =14 o Bkt
+012 = 4+ > =
oo o 136-1 3 3
60. 2136 = 2+ 0136 = G e MO
+0136 = 2+ 590 2+22 =
-—————234939\9939\ 13 13
6l. 02+03+04+ Lol oy ST A == =92,
N 09+0.39 [9+9 99" %) [9*9 T99) " “"33" %33
= oo 8 59 87 59
. 3.87-2.58 = 7 - (2+0.59) = i) . Y
o 3408 -@+05) = 3+ 2)- (20 &) - 14(£- &)
. 1 B
99

63. 3.36-206+1.33=((3+0.36) + (1+ 0.33)] - (2+ 0.05)

36  33) 5 36 33 5 64
= | — fish 4 = | —_— = — —_— 64
{4 [99+99_J} [hes} 2+(99 99 99) g
- B 1 s B
C 009X TF = oxTo = Sx 2 = 2 = 08,
64 0.09x73 = LxTg = x T =2

3467-34  1333-13 3433+ 1320 4753 4801-48

. 0.3467+0.1333= = = = = 0.4801.
o i 9900 9900 9900 9900 9900
66. {8.3T+0.§+(}.00§) - BiF 31-3 E '"_2_" = T200 + 280 + 600 + 2
90 9 900 900
8082 882 o 979-97 . .o
900 - 900 900

67. 2.75+3.78 = (-2+0.75) +(-3+0.78) = -5+ (0.75+ 0.78) = - 5+ 1.53
=-5+1+053=-4+0.53 = 4.53,

g, 247527 _ 54.7527 _ 547'52?xl1 -
To82 0.0082 0.0082 ~ 10) 10
eo. 2994 _ 2994 _ (2991 1] 178
145 145 145 10 10
70. 16x 213 |16, 213 (1_&;5213] _ 3408 _ o, 0g
0 10 100 100
1 10000 | 1)

’ - =[10000 % —— | = (10000 0.16134) = 1613 4.
M 50006198 ~ 6198 | * G.IQSJ Lo )
72, Given. 5—2ﬁ = 168 & i?-‘*—lﬁ =312,

312 168
Now. 52.416 _ 524160 _ (52416 10] - (312x10) = 3120,
0.0168 168 . 168

73. Given, 168 x 32 = 5376 or 5376 + 168 = 32,
5.376 _ 53.76 _ [5375){__1_,] _ 32
16.8 168 168 100 100
74. Number of decimal places in the given expression = 8,

Number of decimal places in (a) = 8.

Number of decimal places in (b) = 9.

Number of decimal places in (¢) = 7.

Clearly, the expression in (a) is the same as the given expression.

Now, = 0.32.
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Decimal Fractions 63

75. For the expressions to be equivalent, the difference between the sum of the decimal
places in the numerator and that in the denominator must be equal.

This difference is 1 in the given expression and 1 in (d). So, (d} is the answer.
(06.54 - R9.63) (9654 + 8.963) 3 (96.54 - 89.63) . (9.654 + 8.9563)
(96.54 + 89.63) (9654 — 896.3) (9654 — 896.3) (96.54 - 89.63)
_ (9654~ 89.63) & (96.54 + 89.63)

10(96.54 - 59.63) 10 (96.54 + 89.63)

e il 1 o

76. Given expression =

77. (0.11)° + (0.22 + ... + (099 = (0.112 (1% + 2% + ... + 9®)

= 0.001331 x 2025 = 2.695275 = 2.695.
78. Given expression = 87— [7.6-{6.5-(54-2.3))] = 8.7~ [7.6-(6.5- 3.1}
8.7-(7.6-3.4) = 87-42 = 45.

79. l-p 1 +_.}.——-l ]+l+1 =1. M]:ixﬂ:ﬂ:ﬁﬂﬂ&ﬂ_
4 120
+

4 4xb 4x5x6 4 5 30) 4 30 3

; ; 2x4x8x16+4x8x16+8x16+16+1
80. Given expression =

2x4x8x16
_1024+512+128+16+1 _ 1681 _ (0
1024 1024
1 1 1

81. Given expression =

+ * e
bx6 G6x7 T8 24 x 25

(Y82

5 25) 25
1-2 4.2
x _004 4 2  y-x__ y__ 75_71
8. y 15 150 75 PR a2 - M
¥ 75
? ( 15 1 ¢
83. Given expression = 35‘7—! 3+ﬁ'—[2+‘3— = 35-7—l3+1]—[2+2]
I\ = -~ 10 b
L 2
_a57 33 12 _ 35,7-f§§+12] -357-27 - 357-5.7 = 30.
10 5 10" 5 10
1.5
84, Given exoression = (0:333%)  (0.1667)(08333) _ 3333 %6
’ i (0.2222) (0.6667)(0.1250) 2222 2 125
3 1000
=[§.x-1—x§-xgx8] =5 _a50
26 2 2

36x048x250  36x48x250 _

: - = 800,
012x0.09x 05 12x9x%x5 y
gg, 00203x292 _ 203x292 _4
' 00073x14.5%x0.7 T3x145xT7 5
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64 Quantitative Aptitude

3.167x 4126 x 3.198 _ 3.2x4126x3.2  32x4126x 32)( 1

63.072 % 2835.121 64x2835 642835 100
66016 1 2328
= —— = 0.23 = 02.
2835 100 100
489.1375x 0.0483 x1.956  489x0.06x2 489

0.0873 % 92.581 x 99.749  009x 93x100 9x93x 10
163 1 058
27910 10
gg, 241.6x03814x6.842 240x0.38x 69 _ 240x38x69 Xk
04618 x 38.25x 73.65 046x38x 75  46x38x75 10 S
24 1 4.8
= (?xﬁj = 35 = 048
So, the value is close to 0.4.

90. Given expression ~ (02X0:2+001) _ 0.04+0.01 _ 005 _

0.1x01+002) 001+002 003
8§-28 52 52

18 “15° 38 °

92. Given expression = 4.7 x (13.26 + 943 + 77.31) = 4.7 x 100 = 470.

0.2(0.2+002) _ 02x022 0044 _
0.044 T 0044 0044

86x%(53+47 86x10

ca. v o = = = 20,
IVEN EXPressiof 4.3%(8.7-8.7) 43x1

B96 % (.763+.237) .896x1 8.96 ;
= = —— = L.28.
7 x(.064 + .936) TIx1 T
96. Given expression = (a® - B*) = (a + b) (a — b) = (68.237 + 31.763) (68.237 — 31.763)
= (100 x 36.474) = 36474,

= 0.G658 = 0.06.

| en

91. Given expression

98. Given expression 1.

95. Given expression

a’ - _(a+b)a-b)

97. Given expression = = (e+b) = (239 + 161) = 4.

a-b  (a-b)
— DR 2 g2
98. Given expression = (22\{;);_1;22:’5;6)2 = ua : = (a +b) = (2644 + 2.356) = 5.
™~ . _ 2 2
0 Tk (3654 - 3467 40. Then, » - (3654 - (3467 _ (3654) (3.467
x 40 3654 + 346
2 2
T
a+b

= 2 o a2
100. Given expression = 167.542)° ~ (32458)

T (67542 + 7196) - (32458 1 7.916)

(67545 2 _ e
- (67547 - (82458 _ (67.542 + 32.458) = 100.
67542 - 32458

_ [1.49 %x1.49x10-0.51x0.51 x 10}

101. Given expression
1.49x10 - 0.51x 10

_ 10[(1.497 - 0517
10(1.49 - (.61)

=(1.49+0.51) = 2.
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Decimal Fractions »
N . (@b @® - %)
102. Given expression = @+b@-b u (@® - b 3 &
_ 3 532 % (56 + 44} 532 x100
108. = 7 s
03. Given expression (766 + 2.34) (766 - 234) 10 =532 10
212 212 2 — p
104. Given expression ~ (08T —U0.5 _ 0.6)° +(0.671 [0.6)° - (0.5

105.

106.

107.

108.

109.

110.

111

112

113,

114.

(0.6) +10.5) 0.6) +(0.5)

(06 - (0.5)° = (06+05)(06-0.5) = (11x01) = 011
Given expression = (7.5 x 7.5 + 2 x 7.5 x 2.5 + 245 x 2.5)

=(a® + 2ab+ B?) = (a + b)2 = (7.5 + 2.5)* = 10% = 100.
0.2 x 0.2 +0.02 x 0.02~-04x002=02x 0.2+ 002 x 002 -2 x 0.2 x 0.02
= (a® + B? - 2ab) = (a - b)? = (0.2 — 0.02)2

- (0.18)%
Given expression = 018X 018) _ 409
036

Given expression = (11.98)2 + (0.02)2 + 11.98 x x.
For the given expression to be a perfect square, we must have
1198 x x= 2 % 11,98 x 0.02 or x = 0.04,

_ -t +@+b?  26+d?

Given expression

a® +b° )
- I A
(iven expression = M - 4
ab ab
. . (0.051% + (0.041) [ a®+d
Given expression = = |- z
(0.0517 - (0.051 % 0.041) + (00417  |(a®-ab+b

= (@ +b) = (0051 + 0.041) = 0.092,

_ (953 - (953 x .047) + (04T
(9537 + (047)°

[a%ggfb?]_ 1 1

Given expression

sz NP e e
a’+ b7 a+b 953+ 047

: . 05" +(0.3° [ a®+8® ]
Given expression = =

(0.57 + (037 - (05x03) |a®+b°-ab
=l@a+8)={(05+03 =08

10.3° + (1° a®+6°
(1032 -(103x D+ (1° | a® - ab+b*
(@+b) = (103+1) = 113,

Given expression

Given expression = (2x 3757 + (1)* - (75° + (1)° %
(75° - (15xD+ M2 (757 - (T5x 1)+ (1)
3.3
= {—23 e 2-] =(a+b) = (715+1) = 85.
\a " —-ab+b
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68 Quantitative Aptitude

(0.1° + (0.02)° 1

116. Given expression = —————e—" " _ = _ = (125
e 2 (0.1)° + (0.02%] 8
3 _ 3 2_ 13
116. Given expression = (8.94) - (3.56) = = a: 5b
(8.94) + 8.94 x3.56 + (3.56) | a® +ab + b°

= (@ -b) = (894 - 356) = 538.

3 _ o1 3 _33
117. Given expression = 72(096 il = & =b
(096)* + (096 % 01) + (01)* | a® + ab + b*

(a-b) = (096 -01) = 0.86.

H

; . 23° - 03?® a’ - B
118, Given expression = ———— 2
(23)% +(23% 0.3) +(0.3)° a® +ab + b2
={a-b)=23-03) =2
a®+ b2+ c?

118. Given expression = where ¢ = 06, b = 047 and ¢ = 0.079.

BECEC
———— o | — + | —
10 10, \10

2 2 2
i .1.0129_':29_%31 - 100.
(a® +b* +¢°)

———— s e e e e — — — — — — — — s — — — — — — — — — — —



